CS-3160 Exam #2 Keys

FORM

A|(B|C|D

E

#

26 D|(D(D|(D|D

29 | A[A|A|A|A

30/Cc|{Cc|C|C|C

31| A|A[A|JA|A

33|Cc|{cCc|C|fC|C

3 A|A[A|JA|A

37 | A|A[A|A|A

38| Cc|(Cc|C|C|C

39| A[A|A|A|A

41 (D |(D|D|D| D

22| A[AJA|A]A

43 | Cc|(Cc|Cc|C|C

4 D (D|D|D| D

45 | A|A|JA|A|A

49 | Cc|Cc|Cc|Cc|C

50 D(D(D|(D|D

FORM

A

A

A

A

D
C

D

D

D
C

C

D
D

AlA|A

AlA|A

1

6

10| D | D
11| C | C
12
13

14| D | D

15

16 | D | D

17

18| D | D
19| C | C

20

21| C | C

22
23

24 | D | D
25| D | D

Yes, all of the forms on this exam were identical. It was primarily a test of the mechanics of

using multiple forms.



